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234 353 67 868 9: ;< => ?: @A=B:@C
x1 = −2, x2 = 3, x3 = 3,
σ1 = 2, σ2 = 2, σ3 = 1,
g = −2 + (3x3 + 3x1)/x2

234 353 67 8D 8 9 >AE ;;C F @>=:
GHI @>HC=J
x1 = 2, x2 = 4, x3 = 2,
σ1 = 4, σ2 = 2, σ3 = 3,
g = 7 + 5x1 − 4x2 + 4x3

234 353 67 8K 8 ?:@BHC ?: @A=I =E
x1 = 4, x2 = 3, x3 = 5,
σ1 = 2, σ2 = 2, σ3 = 2,
g = 5 + (2x3 − 5x1)/x2

234 353 67 8L 8 M: @NOHC P =O=Q @
x1 = −0.2, x2 = 0, x3 = 0,
σ1 = 3, σ2 = 3, σ3 = 1,
g = 0.4 + x1 + 4x2 + 3x2
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234 353 67 8R 8 ME =>;C=J S:TU
V H>BQ @>Q =>HC=J
x1 = −2, x2 = 3, x3 = 4,
σ1 = 2, σ2 = 4, σ3 = 2,
g = −4 + (4x3 + 4x1)/x2

234 353 67 8W 8 XE < HC P =O=Q @
Y;E Z;;C=J
x1 = −1, x2 = 0, x3 = 0,
σ1 = 1, σ2 = 3, σ3 = 3,
g = 2 + x1 + 5x2 + 2x2

3

234 353 67 8[8 \]N@ 9 >@BQ @B=U
^: ;ZHC>@
x1 = −0.9, x2 = 0, x3 = 0,
σ1 = 2, σ2 = 3, σ3 = 2,
g = 1.8 + x1 + 2x2 + 4x2

3

234 353 67 8_ 8 SE `@ V =E =::
? @A=I HC=J
x1 = −3, x2 = 3, x3 = 6,
σ1 = 2, σ2 = 4, σ3 = 3,
g = −2 + (3x3 + 5x1)/x2

234 353 67 8a 8 V b>A=bB X ZHE
X CZ;>T;C=J
x1 = 9, x2 = 3, x3 = 5,
σ1 = 3, σ2 = 2, σ3 = 2,
g = 4− 4x1 + 5x2 + 2x3

234 353 67 867 8 c bd ;>OH e ;QE
? =OQ HE HC=J
x1 = −0.5, x2 = 0, x3 = 0,
σ1 = 1, σ2 = 3, σ3 = 3,
g = 1 + x1 + 4x2 + 3x2

3

234 353 67 8668 f @NbE S:TU
? =OQ HE HC=J
x1 = 17, x2 = 4, x3 = 4,
σ1 = 4, σ2 = 1, σ3 = 2,
g = 5 + (4x3 − 2x1)/x2

234 353 67 86D 8 P ;J@;C@ e H:=>@
S ZHE ;C>@
x1 = 0, x2 = 2, x3 = 4,
σ1 = 1, σ2 = 1, σ3 = 1,
g = −4 + (x3 + 3x1)/x2
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234 353 67 86K 8 ^�b`HC Y;I ;>
x1 = −0.7, x2 = 0, x3 = 0,
σ1 = 1, σ2 = 3, σ3 = 3,
g = 1.4 + x1 + 2x2 + 2x2

3

234 353 67 86L 8 e: ;`@>HC 9E Q ;I
x1 = 16, x2 = 6, x3 = 2,
σ1 = 4, σ2 = 1, σ3 = 3,
g = 4 + (5x3 − 2x1)/x2

234 353 67 86R 8 Y;:=C@>HC 9: ;OB@>AE
f =`@�:HC=J
x1 = 16, x2 = 5, x3 = 3,
σ1 = 3, σ2 = 3, σ3 = 3,
g = 1− 4x1 + 7x2 + 6x3

234 353 67 86W 8 YQ b�@O 9: ;OB@>AE@
9: ;OB;;C>@
x1 = 5, x2 = 4, x3 = 2,
σ1 = 3, σ2 = 1, σ3 = 2,
g = 5 + (4x3 − 5x1)/x2

234 353 67 86[8 Yb`HC 9: ;OB@>AE
x1 = −5, x2 = 4, x3 = 4,
σ1 = 1, σ2 = 2, σ3 = 1,
g = −1 + (4x3 + 3x1)/x2

234 353 67 86_ 8 �;E ;`HC@ f @E Z@E =Q @
x1 = 14, x2 = 6, x3 = 3,
σ1 = 3, σ2 = 2, σ3 = 1,
g = 7 + (6x3 − 4x1)/x2

234 353 67 86a 8 �;E >@>Ab f @E B;: =>b
� b: =b
x1 = 26, x2 = 2, x3 = 6,
σ1 = 2, σ2 = 3, σ3 = 2,
g = 5− x1 + 4x2 + 2x3

234 353 67 8D7 8 � =I ;>;B f ;>A=;Q @
� b: =H Y�B@E
x1 = 9, x2 = 6, x3 = 4,
σ1 = 4, σ2 = 3, σ3 = 2,
g = 3 + (5x3 − 4x1)/x2

234 353 67 8D68 � @�HC@:HC 9 >AE ;�
X CZ;>T;C=J
x1 = 24, x2 = 4, x3 = 3,
σ1 = 2, σ2 = 3, σ3 = 2,
g = 10− 2x1 + 6x2 + 4x3

234 353 67 8DD 8 � @�HC@:HC@ f @E =U
X CZ;>T;C>@
x1 = −1, x2 = 2, x3 = 3,
σ1 = 2, σ2 = 3, σ3 = 3,
g = −4 + (3x3 + 4x1)/x2

234 353 67 8DK 8
x1 = −1, x2 = 0, x3 = 0,
σ1 = 1, σ2 = 2, σ3 = 4,
g = 2 + x1 + x2 + 4x2

3

234 353 67 8DL 8
x1 = −0.8, x2 = 0, x3 = 0,
σ1 = 2, σ2 = 4, σ3 = 1,
g = 1.6 + x1 + 4x2 + 5x2

3

234 353 67 8DR 8
x1 = −1, x2 = 5, x3 = 5,
σ1 = 2, σ2 = 2, σ3 = 2,
g = −4 + (4x3 + 2x1)/x2

234 353 67 8DW 8
x1 = −0.6, x2 = 0, x3 = 0,
σ1 = 2, σ2 = 1, σ3 = 4,
g = 1.2 + x1 + 4x2 + 4x2

3
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¸
x1 x2 x3 λ ∆x1 ∆x2 ∆x3¹ º ¹»¼ ¹½ ¾ »¿½ À Á »¹¼ Â º½ »¾Ã¿¼ º½ »ÃÄ½ ¾ ½ »ÁÄÁ¼ º½ »¹¼ ÀÃ ÅÆÇÈ ÉÊ ËÆÌÍÉÎÆÌÏ

¾ ½ »Â ¹¿ ¼ »¾Á À ¹»¼¿ À ½ »½¾Ä¿ ¹»¹Â¼ ¾ º½ »¾Á¿Â ½ »ÃÁ ¾Ä ÅÊÍÐÇÇÏ Ñ ÌÊÉÆ ÒÓÔÌÊÓÏÉÕ
Á ¼ »¼ ¿Á ¾ »ÃÁ À ¼ »Â ¹Ã ½ »¹¹ÀÃ º½ »¼¿Á½ ½ »¼ ¿Á½ ½ »¹Â Ã¾ ËÆÌÎÓÏ ËÆÌÍÉÔÉÐ
¼ º½ »¾ ¹¾ º½ »½¼ À ½ »½½½ ½ »½½¾¿ ½ »½ ¹¹Â ½ »½¼ À ¹ ½ »½½½½ ÖÆÌ×ØÓÏ ÙÉØÉÚÌ
Ã º ¹»ÂÁÁ ¾ »ÁÁÁ ¼ »¹¿ À º½ »½¼Â¿ º½ »¹¿¿ À ½ »¿¿¿ À º½ »¹¿¿ À ÖÐÉÊÇÏÉÕ ÛÆÜÝ Þ ÓÊÎÚÌÊÚÉÊÓÏÉÕ
¿ º ¹»½½¼ º½ »¹ÄÄ ½ »½½½ ½ »½½ÂÂ ½ »½½¼¼ ½ »¹ÄÄ ¹ ½ »½½½½ ßÐÈ ÓÏ ÙÉØÉÚÌ àÇÐáÇÇÏÉÕ
À º½ »ÄÄ½ º½ »¼½Ã ½ »½½½ ½ »½¼ Ã½ ½ »½Ä½½ ½ »¼ ½Ã½ ½ »½½½½ âã×Ì ÅÊÌÎÚÌÎÉÝ äÆÇáÓÏÊÌ
Â º ¾ »ÀÃÃ ¾ »¿½Â ¿ »ÁÁ ¹ º½ »½¿ÁÄ º½ »¾¼¼ Ä ½ »ÁÄ ¹Â º½ »ÁÁ½¿ ÛÐåÌ ÞÉÐÉÆÆ ËÌÍÉÔÓÏÉÕ
Ä Â »½Á ¹ Á »ÃÁÂ Ã »¾ ¹Ã º½ »½ ÃÁÂ ½ »Ä¿Ä¾ º½ »ÃÁÂÃ º½ »¾ ¹Ã¼ ÞæÊÍÉæÎ ßáÓÐ ßÏáÇÊÜÇÏÉÕ
¹½ º½ »Ã½Á º½ »¹¾¼ ½ »½½½ ½ »½½¿Ä ½ »½½Á¼ ½ »¹¾¼ ¹ ½ »½½½½ ç æè ÇÊØÓ é ÇÚÐ ËÉØÚÓÐÓÏÉÕ
¹¹ ¹À »¼ ¹Â Á »ÄÁ Ã Á »ÀÄ ¹ ½ »¹½¾Ä º½ »¼ ¹ÂÁ ½ »½¿Ã¼ ½ »¾½Ä¾ ê Ì×æÐ ÛÆÜÝ ËÉØÚÓÐÓÏÉÕ
¹¾ ½ »¼ ¿¾ ¹»ÁÂ Ã ¼ »¹Ã¼ º½ »¼ ¾¿½ º½ »¼¿ ¹Ã ½ »¿ ¹Ã¼ º½ »¹ÃÁÂ Ù ÇÕÌÇÏÌ é ÓÆÉÊÌ ÛáÓÐÇÏÊÌ
¹Á º½ »À ¹Ä º½ »Á¼ ¹ ½ »½½½ ½ »½ÁÀÂ ½ »½ ¹ÂÄ ½ »Á¼½ Ã ½ »½½½½ äëæåÓÏ àÇÔÇÊ
¹¼ ¹¿ »¾ ¹½ Ã »ÄÀ¼ ¹»À½ Ã ½ »½ÀÂÁ º½ »¾½ÄÂ ½ »½ ¾¿ ¾ ½ »¾Ä Ã ¹ éÆÇåÌÊÓÏ ÅÐÚÇÔ
¹Ã ¹Ã »¿½¼ Ã »¿ÄÁ Á »ÃÄ¼ º½ »½ ¾¾½ ½ »ÁÄ¿½ º½ »¿ÄÁ ¹ º½ »ÃÄ¼ ¹ àÇÆÉÏÌÊÓÏ ÅÆÇØÎÌÊÍÐ ê ÉåÌìÆÓÏÉÕ
¹¿ Ã »¼ Á½ Á »ÄÃ¾ ¹»Â¼ À ½ »½ÀÃÃ º½ »¼ ¾ÄÄ ½ »½¼ ÀÂ ½ »¹Ã¾Ä àÚæíÌØ ÅÆÇØÎÌÊÍÐÌ ÅÆÇØÎÇÇÏÊÌ
¹À º¼ »¿Ä½ Á »ÃÂ¿ ¼ »¼ ¹¼ º½ »À¼ ¾½ º½ »Á ¹½Á ½ »¼ ¹ÁÂ º½ »¼ ¹ÁÂ àæåÓÏ ÅÆÇØÎÌÊÍÐ
¹Â ¹¼ »ÁÂÁ Ã »À½ ¾ ¾ »ÄÁ¿ ½ »¹¾ ¹Á º½ »ÁÂÁ½ ½ »¾ÄÀÄ ½ »½¿ÁÂ îÇÐÇåÓÏÌ ê ÌÐáÌÐÉÚÌ
¹Ä ¾Ã »ÄÀ¿ ¾ »¾¾½ ¿ »½¼ Ä º½ »½ ¹¾¾ ½ »½¾¼¼ º½ »¾ ¹ÄÃ º½ »½¼ÂÂ ïÇÐÊÌÊÍæ ê ÌÐÎÇÆÉÊæ ð æÆÉæ
¾½ Ä »¾ÄÁ Ã »ÂÀ¿ Á »Ä½Â ½ »½ÃÁÂ º½ »¾Ä¾Ä ½ »¹¾Á¿ ½ »½Ä ¹Ã ñÉÔÇÊÇÎ ê ÇÊÍÉÇÚÌ ñæÆÉÓ àòÎÌÐ
¾ ¹ ¾Á »Ä¿½ ¼ »¾¿ À Á »½ÀÄ º½ »½½ÄÄ ½ »½ÁÄ¿ º½ »¾¿ ÀÁ º½ »½ ÀÄ ¾ ó ÌíÓÏÌÆÓÏ ÅÊÍÐÇì ßÏáÇÊÜÇÏÉÕ
¾¾ º½ »ÂÁ¼ ¹»¿¾¿ Á »¾Â½ º½ »½ÁÁÂ º½ »¹¿¿ ¹ ½ »Á ÀÁ À º½ »¾Â½Á ó ÌíÓÏÌÆÓÏÌ ê ÌÐÉÝ ßÏáÇÊÜÇÏÊÌ
¾Á º ¹»¾½½ º½ »Â½½ ½ »½½½ ½ »¼½½½ ½ »¾½½½ ½ »Â½½½ ½ »½½½½
¾¼ º½ »Â ¹¾ º½ »¹ÄÀ ½ »½½½ ½ »½½¿ ¾ ½ »½ ¹¾Á ½ »¹Ä¿Ä ½ »½½½½
¾Ã º½ »ÂÂÄ ¼ »ÀÀÂ Ã »¾¾¾ º½ »¹Á¾À º½ »¹¹¹¹ ½ »¾¾¾¾ º½ »¾¾¾¾
¾¿ º½ »À¾½ º½ »¹¾½ ½ »½½½ ½ »½¿½½ ½ »¹¾½½ ½ »¹¾½½ ½ »½½½½
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